AP Calculus AB
Substitution Worksheet #2

Integrate each of the following.

1. jxe"zdx
=l u, du
d:‘ X jxe o
o L
_ aM [ U
o = 2% 2z € +C
xz.
7€t
3
3 jx(x2+1)/2dx
v d)_)\
u=x2+1  $xu o2
ad
i i :,'_fuj’z dua
- at 7 Sle
dx 27‘ _il__é,u +c
"é_(x2+'75/2+<3
5 jcoj;_([;dx
sy, L
= d == 2 du
M= x 2 5z
du Lx 2
dw - 2 25 CoSn Cb
%:i—rﬁ‘- QS\V\ UH‘C-
X
Ox = 23% 2 SinVx 4+ ¢
7 fexsine dx
U= e* fersmnt
I X .
Ca;‘“ - jsmux A
dx * Cg’i casw t C
~case*+C

Name K@ (4
J

2. [t?cos(1-13)dt

Us=|-t3 jJ(‘Co.su:‘l_
A ot
- A _éj cosu dh
M= W = (e

312 -B—SIV)UL'i'C.J

‘3'— sin(1-t3)+C

4. [3)3-5y dy A i
u=3-54 -5
Q. .5 7 juisdu
4

_ A L 5 4¥a+c
o s &4

-1 (3-5y) "B+ ¢
C T (3 Y )

6. IcoTX ax —3_/( = dx

__SH\)\
U= SInX \5 qu-ii o
oM W cas X
CaAi X
dx j o o
- dm
0X= (Ix In fuly C
In |sinx|+C
] J- sinx i

| + cos® x ¢
‘nx
U= coSx S SW02 . .
. 14U°% —SIX
M: -SinXx
2

oM I+ u

x4 '

~S1nX
-~ orcteen +C

~ arctorn(tasx) + ¢



